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Time

(" ™

Wirite down the 8
tenes tables on a
piece of paper. Sing or
chant the tabbe. Ask a
friend or famihy
meamber to test you
To see how many you
can remember. Try
again a litthe bit later
in the day to see if

You Improve.
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Multi
Rule: Times the numbers in the two cucles to get the number in

the square between them. No number is used twice.
Complete the diagrams. The first one has been panly done to help you.
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Quite Confident/Confident Getting Confident

ES Pick 2 cards from the 4 cards.
Put these cards in the boxes so each sum is correct:

o [Cel=z] [1-[C-12 » [EEIE] O-C1-15
» [=1le]z10+] - -10 » [SCGEIE] -0 -12 MATH $
» [AGEIEIE]D -0 -20 o EEIC]E] <0 -14 Crossword Puzzle “H"
»EIlelEIE] -1 -18 » [slZI=][=] [1-[1-35 Fill in the blanks of each crossword puzzie
» [eE1GIC]E] O~ -24 o[=]lell=][s] []-<[]-60 FRETSVIR SN VIS SR W
mEEEE [(1-[1-2¢ =[Z1=]1E]IE] <] -18 > | x G =5 7

Extremely Confident =

1. Dave had 82 sweetsthat he shared between 4 . © x
friends. How many sweetsdid they each get? -~ ®

30

-
I
@ | X
X
I
I

2. Jane had 675 cans of soup. She shared them betweaen 5 boxes after X 24 —
she took 5 home, How many cans went into each box? —
If the boxescould only hold 119 canseach, how many

would she have laft over?

3. Carly had 259 stamps; she shared them between her § oy
books. How many stamps went into each book? 5
L= T x 7 - 3 x 1 2 —
4. C=arlos had 1587 packs of pens. He shared them between x xX xX
7 classes. How many packs did each class have?
1 O | X =

5. Samina had 843 stickers. She had 12 stickers’ books 'idi Ty )
How many stickersweant in eaach book?

90

6. Chocolate dropswere divided betweean 3 people, with — 22 42 xX
7 left over. What two numbers were divided to give an ‘
answer 8 remainder 77

7. Create as many division question as you can, that give an answer of
23

8. ifthe answerisl7 remainder 4, what was the division question?




IGetting Confident Extiremely C

1) 4x3 = 16) 4 x = 8 Acthaty 3
2] 2x4d = 1?] ®x 4 = 16 Sohve these multiplication qguestions using the methods you learnt at schoo
3) Ox4a = _ 18) 4x_ = 28 ]
Remember, you can use either the grid method or the short-hand method. or bo

4) a4 x4 = 19) 4x_ = 36
5) 7x4 = 200 _ x4 = 4 1)164 x 2 = 4)122 x 3=
6) 4x8 - 21) x4 = 12

2)144 x 2 = 5)154 x5 =
7) 4x2 = 22) 4x = 40

3)174x5= 6)131x 4=
8) 4x9 = 23) 4x = 32
9) 5x4 = 24) x 4 = 0 Activity 2
10) 4x6 = 25) 4x___ = 20

Calculate the missing gaps by using your knowledge of fimes

QWCW 1 [ 21 9 2 [ =

Help Captain Salamander to cross the river by shading the stepping
stones counting up in 6s. 72 54 14

@ s | | o| |4

el > o o> 14 35 20

g@ <) 25

......................................................................................................................... 3 4
12 8 6
Count by 65 up to 60 X bad
5 == - - - - - == - —= 48 32
Fill in the missing numbers in the & times table. & 72 5 15
Bx 1= & 6 x 2 = Bx 3= & x4 = 6 x5 = 22 110 54
Bx 6= Bx 7 = BxE8= 6x9 = & x 10 =
50 48
Draw lines to match the 6 times table fact Lo its answer.
Bx3 - — (=1 ] Bx 2 24
& x 10 —-__ ] &6 x4 30
&x 7 TTas 6 x9 26
B x B 42 & x b = |

&x 1l 48 x5S 12
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Getting Confident

Matthew and Jack share this food
equally.

Twm.ty Divided Into Six

,,2,

3

2 N ~N

allsllell7]l8l ol10

,11‘

12

13lh4lislhelh7l18l19]l20

Shearrcmged the casrds mzo‘st_xunagua.lpdas.
The numbers on the cards meadzp;&a.ddzd.w'thzsmwtal.,

What wos the tofal and how could this be done?

Quite Confident/Confident

Can you ful in the matnx (table square) below?

The numbers 2 - 12 were used &

mmc&dedmmymméeamﬁzée}

@ mlmtmmm‘thm ( 7o comies o e grd

32

40

32 40

Vocabulary: biscuits, sandwich,
muffin, pizza, juice, tomatoes,

49 49

22

22 grapes, apples, crisps

19

27 15 27 « Tell me what each child will getf

24

24

Use the picture to help you.

42 42 Practise your 2 x and 5 x table




